




18. 'AD' is related to 'NO', in the same way
'LM' is related to-

'AB'-~~ ~ ~ 'NO'~~ ~ ~
c.:""~""~f.lBe=ll'r::c;qa.~'LM'~~~ ~ ~

(a) RS
(b) PQ
(c) UV
(d) YZ

J9. 'n'(pi) is related to 'Irrational', in the same
:way, , 272' is related to-

'n'(~l(~~ ~~~~~
~~elC~'2i'~~~~

(a) Irrational (~)
(b) Transcedental(~)
(c) Rational (~)
(d) Imaginary (''::IIOt<l5It100rff.l:.x<l5)

20. 'Beckham' is related to 'football', in the
same way 'Pete Sampras' is related to-

'~'~~~ ~ ~'~~~~
:($6~f.lelc:q f'9j"i; ~'~~ ~ ~ ~

(a) Tennis (~)
(b) Cricket (~)
(c) Basketball (-,rio<IIC"""':4~~:qr=d\)
(d) Karate (~)

(Qu~oos 21-30) "
"i<:!""",,,,.'~i"F~_CTION:In each of the questions 21 to 30,

some codes have been used to write words. Try to
find out the rule of coding in each case and answer
as per direction in the Answer-Sheet by filling the
circle of the denoting your selected answer on the
O.M.R. Answer-Sheet. '
("21-30)
~: 21 ~30 ~~ ~~~iSfiU~
~ ~ <Rl ~I ~ ~ "Jl(C"~HIC"'i9 ~
'6IiJ'l1lilil ~ ~ ~ ~~ • ~ O.M.R.
~~_~~'t~~mf.l~~I]

21. If 'PAINT' is coded as 74128 and
'EXCEL' is coded as 93596, then how will you
code' ACCEPT'?

~ 'PAINT'~~ "Jl~ 74128 ~~
'EXCEL'~~ "Jl~ 93596 ~ ~ 'ACCEPT'~~
"Jl~~

(a) 455978
(b) 547978
(c) 554978
(d) 735961

13. 'Rabindranath' is related to
'Shantiniketan', in the same way 'Gandhiji' is
related to-

'941Qfiitc~' ~ ~ '-1~Mt~'~~ ~
~ ~~f.lelc<! ''>tM'-~~~~-

(a) Rajkot (91ISft"i6)
(b) Sabarmati ()!<!9~~)
(c) Silaidaha (1i'1d\~~
(d) Dandi (~)

15. 'Square' is related to 'Cube', in the spme
way 'Circle' is related to-

'q~'~~ ~ ~ ~~~ ~~
c.:""'~~~Mr?n,e=lc~:<r'~~~ ~ ~ ~

(a) Sphere (c~)
(b) Ellipse (~~)
(c) Parabola (~)
(d) Hyperbola(~)

16. 'Disease' is related to 'Pathology', in the
same way 'Planet' is related to-

'@t'if'~~ ~ ~ 'C9l~'-~ ~ ~
c'T1l<~..n~f.l::me::'l'lIC'=<t'~-~"Jltc~ ~ ~-

(a) Geology (~~~'fJt)
(b) Science (~) ,
(c) Astronomy (ii'll"JlMSlii)
(d) History~)

17. 'Newspaper' is related to 'Reader', in the
same way 'Bread' is related to-

'~ "<!St'iflSf'~~ ~ ~ '~'~ ~
~ c~~f.leIC<! ~'-~ ~ ~~

(a) Wheat (~)
(b) Consumer (~)
(c) Seller (~)
(d) Baker (.~)
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22. In a certain code 'ABC' is 'XYZ' and
'XYZ' is 'ABC', then how will you codeXA YBZC?

~ 'ABC'-I.£I~~ 'XYZ' ~~ 'XYZ'-I.£I~
~~ 'ABC'~, ~ 'XA YBZC'-I.£I~~ __~?

(a) ABCXYZ
(b) XYABZC
(c) AXBYCZ
(d) AXBZCY

23. If AB 'means 25, Be means 57, DD ~
58, then CADB is

~ AB-I.£I~~ 25, BC~~ ~ 57 ~ B~
~( 58 ~, ~ CADB-I.£I~~(

(a) 7825
(b) 2578
(c) 7285
(d) 5827

24. In a certain code '37' means 'which class'
and '583' means 'caste and class'. What is the
code for 'caste'?

~~~ '37'~~'whichclass'
~~ 'caste and class'-I.£I~~ 583, ~ 'caste'~
~~~?

(a) 3
(b) 7
(c) 8
(d) Either 5 or 8

25. If in a code system, 4x3=13 and 5x3==16,
then what will be 6x3=?

~ ~~ ~ 4x3=13 ~~~ 5x3=16,
~ 6x3-1.£1~~~~ ~ ~?

(a) 18
(b) 20
(c) 21
(d) 19

26. If 'GAS' is coded as 10-4-22, then 'Box'
will be coded as

~ 'GAS'~ ~ 10 - 4 - 22 ~, ~
'Box' -I.£I~~ ~

(a) 5.- 8 - 28
(b) 5 -18 - 27
(c) 6-16- 27
(d) 6-15 -27

27. IfE=5 and 'BORN' =49, then 'BIRTH' =?
~E = 5 ~ 'BORN' = 49, ~ 'BIRTH' =?
(~) 5-7
(b) 59
(c) 55
(d) 61

29. If 'DISC' is coded as '8749' and 'ACHE'
is coded as '3950', then 'HEAD' is coded as

~ 'DISC'~~ '8749' \Q~ 'ACHE'-I.£I~
~~ '3950' ~. ~ 'HEAD' ,-I.£I~~~ ~

(a) 5038
(b) 5308
(c) 3508
(d) 3805

30. If 'DOME' is coded as '8943' and 'MEAL'
is coded as '4321', then what group of letters can
be formed for the code '38249~ ?

~ 'DOME'~~ '8943' ~ 'MEAL'~
~ '4321'~, ~<ISrn~ '38249'~?

(a) EOADM
(b) MEDOA
(c) EMDAO
(d) EDAMO

(Questions 31-40)
DIRECTION: In each of the following questions,
a number of series is given with one of the terms
missing. Choose the correct alternative that will
continue the same pattern and answer on the
O.M.R. Answer-Sheet by filling the circle.
(.31-40)
L1il*: 31~40~~~~~~~
1ft',O'~~~~~~~~~~
(1)~~.~O.M.R.-I.£I~~~~
~~'f~~~f.k~~I]

31. 7, 12, 19,28,39,1.
(a) 49
(b) 57
(c) 51
(d) 52
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.. (a) 5 (b) 10 (c) 15 (d) 21

(a) 64 (b) 54 (c) 58 (d) 56
58.

55. ffihJ ffihJ tfuJ~

-> 14 12 18 9 ? 11

(a) 16 (0) 21 (c) 61 (d) 81

, (a) 75 (b) 26 (c) 25 (d) 20 6 5 3

56. 5
4 1

64 8..
? 2 4 8 225

(a) 1 (b) 2 (c) 3 • (d) 4 (a) 115 (b) 130 (c) 135 (d) 140

[8 ]

52.

53.

54.

(a) 111

(a) 286 (b) 186 (d) 168(c) 861

57.
6 9 15

8 12 20

4 6 '1



60.

(a) 22 (b) 26 (c) 17 (d) 23

(Questions 61-70)
DIRECTION: This section deals with questions
on simple mathematical operations. Here, the four
fundamental· operations addition, subtraction,
multiplication and .. sion ~ represen~ by
symbols different from ih'e' usual one. You have to
solve the problem by substituting the real symbol
accordingly and indicate your answer by filling the
circle of the letter denoting your selected answer
on O.M.R. Answer-Sheet.

(!fa5t 61-70)
~: 61 ~ 70 ~ ~1if 'Sftfiilf%<p ~ ~
~ I ~~ ~'Sf, ~, ~ ~ ~'Sf ~. 'Sftf'lf\§<l$
!lQoM'~~ _ ~ ~ ~ ~I (O\!l1/1Cij'i!j•
~1ikqs f.iC~1/C'!l "'IQ<I~ ~ )!1/)ij116~ <ISSf ~~
O.M.R. ~~ f.rti(ig ~ ~Cf ~ ~ ~
f.iC~<RI]

61. If '+ ~ '+', '+' means '-', '-'
means 'x', 'x' means '+', then 12+ 6 +:3 -~ x 8 = 1

(a) -2
(b) 4
(c) 2
(d) 8

62. IfL=+, M =-, N =x, P =+, then
14NI0IA2P2M8 = ?
(a) 153
(b) 216
(c) 248
(d) 251

63. If '+' stands for 'x', '-' for' +', 'x' for '-'
and ' +' for '+', then find the value of the

26 + 74 - 4 x 5 + 2
(a) 226
(b) 376
(c) 478
(d) 488 ~ u

64. If P denotes +, Q denotes -, R denotes x
and S denotes +, then 36R4S8Q7P4 =1

(a) 10
(b) 2
(c) 9
(d) 15

65. If ~ stands for +, +- stands for -, J, stands e ,

for x, t stands for +, then
6 t 3 J, 10 +- 7 ~ 2 = 1
(a) -10
~) 312
te} 7/a
{d) 15

66. If A means +, B means -, C means x, and
D means +, then 18C14A6B16D4 = 1

(a) 254
(b) 238
(c) 188
(d) 258

67. If interchange sign + and +; interchange
digit 2 and 3. then the value of 23 + 3 + 62 + 2 is

(a) 41
(b) 37
(c) 46
(d) 33

If 2 iIc 3 = 64, 4 * 5 = 108, then 6 * 7 = ?
(a) 142
(b) 150
(c) 152
(d) 162

69. If A denotes +, + denotes >, - denotes <
and 0 denotes -, then which of the following is
cottect?

(a) 9A 7 + 25
(b) 15 - 5A8
(c) 1705-4
(d) 21+2709

70. If ~ stands for +, +- stands for x, J- stands
for +. t stands for -, then the value of

9 +- 32 ~ 8 J- 10 t 17 is
(a) 29
(b) 27
(c) 21

[9]





80. Find out the number, that lies inside both
circle and rectangle.

(a) 1
(b) 8
(c) 3
(d) 5

(Questions 81-85)

DIRECTION: In each of the questions 81 to 85,
there are four words. Those words are to be
arranged in alphabetical order.(as they are placed
in the dictionary). Flnd out the word that comes
last in the dictionary and mark the right alternative
on the O.M.R. Answer-Sheet by filling the circle.

(_81-85)

~: ~ 81-85 ~ ~ ~ a ~~
arom~I ~ ~~ q4j'i.!jO()I ~ ~ (~
dictionarycs ~) I ~ ~ >toqo)C{I~ ~ 0'1$ <mf
~~~ O.M.R. ~~_~~'t~
~~M~<RI]

81. (a) Abandon
(c) Accumulate

82. (a) Demand
(c) Deterred

83. (a) Rehash
(c) Register

84. (a) Forest
(c) Forgot

85. (a) Responsible
(c) Research

(b) Actuate
(d) Achieve

(b) Destroy
(d) Direct

(b) Regress
(d) Regret

(b) Forecast
(d) Forehead

(b) Republic
(d) Reporter

(Questions 86-90) ~

DIRECTION: In each of the questions 86 to 90,
three out of four figures are alike in same respect
and one is different from others. Find out the odd
figure in each question and indicate your answer
by filling the circle of the letter denoting your
selected answer on the O.M.R. Answer-Sheet.

..

(.86-90)

~: 86~90 ~ ~m !I~<pfij'Sl aroma
~ ltt'6 ~ C45ttin0«. C45ttinmar 1iIa;~ ~~~
~~1im~~I~~~~
W c<rn" ~ ~ mfij ~ <R ~~~ O.M.R.
~~_~~'t~~~MC'T~<RI]

86.

II ~ \/
(a) (b) (c) (d)

87.

(a) (d)(b) (c)

88.

/ ( 6 )
~ t..

(a) (d)(b) (c)

89.

(a) (d)(b) (c)

90.

(a) (b) (c) (d)
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Mathematics
- - - a b

1. If a + b = 2c,the value of --+-b- isa-c -c
(a) 0
(b) 2
(c) 1
(d) 3

2. The average of eight numbers is 12_
Among them two numbers are zero and remaining

_numbers are equal. The non-zero number is
(a) 16
(b) 12
(c) 6
(d) 18

3. Stonechips, sand and cement are mixed in
the ratio 4 : 3 : 2 to make a mixture of 2-7 quintal.

-How much sand is to be mixed into the mixture to
make the ratio 6: 5 : 3?

(a) 10 kg
(b) 20kg
(c) 5 kg
(d) 25 kg

4. If a2 + b2 + 4a+ 2b+ 5 = 0, the value of
a2 _b2 _

2 2 ISa +b
- (a) !

3
- 1

(b) -3
3

(c) -5 -
(d) l

5

5. If (3-7Y = (0-037Y = 10000, the value of -
1 1 is .

- x y
(a) 1
(b) 2

1 .•
(c) "2
(d) 1.

4

- a b-
-I. a+b e Zc ~----+-b--~~~. a-c-'-c

(a) 0,
(b) 2
(c) 1
(d) 3

2~ ~ ~\~ ~ 121 _~V'Rf ~~ ~ ~\~ ~
~<q\ ~ ~\~~ ~ I ~ -.:rn ~~ ~\~ ~

(a) 16
(b) 12
(c) 6
(d) 18

3. ~9\'~l, ~ ~<q\ ~ 4: 3: 2-~~
~rn 2:7 ~ ~<!$ ~t;f ~ -~- ~I \5lBf ~
~t;f ~ .!t ~t;f ()Tl"IttG1 ~~ 6 : 5 : 3 ~?

(a) 10 kg
(b) 20 kg
(c) 5 kg
(d) 25 kg

-a2 _b2

4. a2 +b2+4a+2b+5 = 0 ~ 2 b2 -~~
~~ a +

1
. (a) 3

(b) 1
3

(c) 3-
5

(d) 3
5

_ _ 1 1
5. (3-7Y = (0-037Y = 10000 ~ .x -y -~~

~~

(a) 1
(b) 2

- 1
(c) -

2
(d) 1.

4
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6. If 5x2 -4xy + y2 - 2x +1 = 0, the values
of x andy are

(a) x= l,y=2.
(b) x= 2, y = 1
(c) x = 1, y =-1
(d) x=-I,y= 1

7. If ab + be + ea = 0, the value of

a2~be+ b2 ~ea + e2 ~ab is

(a) . 1

(b) 0
1 ,

,(c) abc .

(d) abc

8. If xa. xb• XC= 1(X:f:.0), the value of
a2 b2 e2

•-+-+- IS
be ea ab

(a). 0
(b) abe

(c) 3abe
t'

(d) 3

9.· Ifax +by = 6, bx - ay = 2 and X2+ y2 =4,
the value of (a2 +b2

) is
(a) 2
(b) 4
(c) 5
(d) 10

x . y .
10. If - + q= - + P and x = y P :f:.q the

P q "
. value of x or y is

(a) pq

(b) _1 .
pq

(c) -pq
"-1(d),.-
pq

6. 5x2-4XY+l-:2x+l=0~x~y~~~
~

)

(a) X= l,y=2
(b) X= 2, y = 1
(c) X= l,y=-1
(d)x=-l,y= 1

7. ab + be + ca = 0 ~
}. +. 1 + 1 ~~~~

a2 - be b2 '- ea e2 - ab . .
(a) 1
(b) 0

1
(c) abe

(d) abe

(a) 0
(b) abc

(c) 3abe

(d) 3

2 2·9. ax + by = 6, bx - ay = 2 and x + y = 4,
~ (a2+b2)~~~~

(a) 2
(b) 4
(c) 5
(d) 10

"x Y
10. p +q={j+P \!I<f~x=y,p:f:.q~x ~~y

\!I~~~

(a) pq .

(b) ~
pq .

(c) -pq

(d) .2
pq
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11. The income of A is 25% more than that of
B. How much percent of B's income is less than
that of A?

(a) 20%
(b) 25% .
(c) 30%
(d) 15%

12. 10 men can complete the construction of a
wall in 8 days. How many men are required to
complete the same work in 'half of a day'? '

(a) 160
(b) 100
(c) 120
(d) 150

13. If (5x - 2y) : (2x + 3y) = 2: 3, then
(a) x < y

(b) x > y
(c) X = y
(d) xy =1

14. In a division, the divisor is 10 times of the ,
. quotient arid 5 times of the remainder. If the

remainder is 46, the divident is
(a) 4306
(b) 4336
(c) 5306
(d) 5336

15. . A wire is in the shape of a square of side
10 cm. If the wire is rebent into a rectangle of
length 12 em, its area is

(a) 100 cnr'
(b) 120 em?
(c) 96 em-
(d) 84 em?

16. The base and area of a parallelogram are
4 em and 24 em? respectively, The height of the'
parallelogram is

(a) 6 em
(b) 8 em
(c) 12 em
(d) 3 em \.

,11. A-\£l~ ~ B-<SJ.~~ (R$[ 25% ~ I s-e«
~ A-\£l~ ~ (R$[ ~ ~ ~~xt <I»f?

(a) 20%
(b) 25%
(c) 30%
(d) 15%

12. 10 ~ ca'f!<p 8 ~. -!)<i$ ~ma1 ~ ~
~ I ~~~' ~ ~ ~1~ ~ ~ ca'f!<p
~~? .

. (a) 160
(b) 100
(c) 120
(d) 150

13. (5x- 2y): (2x + 3y) = 2; 3 ~
(a) x < y
(b) x > y
(c) 'x=y

(d) xy =1

14. ~ ~'>f ~, ~ i5t~ 10 ~~ \~r<f~
i5t~ 5 ~~ I i5t~ 46 ~ ~ ~

(a) 4306 >-

(b) 4336
(c) 5306
(d) 5336

15. <f~ I.!l<t$.~ ~ ~ 10 em I ~~f&C<!S
~ ~ ~Hl\t~Rl ~ ~ ~ ~ 12 cml
':.5H?:I\tC~~f&~C:'11'~lfii1~

(a) 100 em"
(b) . 120 cnf
(c) 96 em"
(d) 84 em?

16. I.!l~ ~toll~R~~~ ~ -!)<;f~(''"T'I!l~'1 <T~'

4 em I.!l<f~24 crrr' I ~toll~R~f&~ ~ ~

(a) 6 em
(b) 8 em
(c) 12 em
(d) 3 em

[ 5 ]



17~ 'G' is the centriod of an equilateral
triangle ABC. If AB = 6 cm, the length of AG is

(a)· 2>13 em
(b) 3~ em
(c) ~ ern

3·
(d) 2>13 em

17. ABC ~ Nl~Q8T~ '6~C<qStE G I <rfi¥
. AB=6cm~,~AG-~~~~

(a) 2>13 cm .
(b) 3~cm
(c)· 13 em3 .
(d) 2>13 cm

18. ~;q$. R1~ciS1~ ~m ~ ~~~m
C:~YtM~G<qS~ ~

(a) '6~c<PtE
(b) ~.
(c) '¢Rgg~

(d)~

18. The point of intersection· of the'
perpendicular bisectors of the sides of a triangle is
called

(a) Centriod
(b) Circumcentre

. (c) Incentre
(d) Orthocentre .

19. . One angle of a triangle is 108°. The
included angle between the internal bisectors of
two acute angles of the triangle is

(a). 1440

. (b) 36°
(c) 72°
(d) 90°

19. ~;q$ Rl~Q8T~ ~;q$ C<1S1"f108°IRl~iS1fG~
~'t ~ ~~~ '6l~'i'&C<1S1'tfG~ .

(a) 144°
(b) 36°
(c) 72°
(d)· 90°

20. In MBC,· AB+BC=10cm,-- -_.-
BC + CA = 11 cm and AB + CA = 13 em, then

(a) LA>LB
(b) LA=LB
(c) LA>LC
(d) LB>LC

..

20. MBC-~ AB+BC=10 em,- _. --
BC+CA =11 cm~<T~ AB+CA=13 cm~

(a) LA>LB
(b)LA=LB .
(c) LA> LC
·(d) LB>LC

. [ 6]



Physical Science
21. What change in volume will be observed

when temperature of water gradually increases
from O°C to 15°C?,

(a) Increases steadily .-
(b) Decreases steadily
(c) At first decreases then increases
(d) At first increases then decreases

22~ Dry ice is

, (a), Solid H2

(b) Graphite

(c) Diamond

(d) 'Solid CO2

23. Three resistances R1, R2& R3(R1> ~ > R3)
,are connected in .series. If current 11' 12& 13

, respectively is flowing through them, the correct
relation will be

(a) 11 = ~ = 13

(b). 13> ~ > 13.

(c) II < 12<13

Cd) 11->12< 13

24. Formulae of sodium zincate is

(a) Na2Zn02
(b) NaZn02
(c) NaZn202
(d) . NaZn03

25. At what temperature, the Fahrenheit scale
reading is double of Celsius Scale reading?

(a) -Aooe
(6) lOO°C

(c) 160°(; ,

(d) 90°C

21. ~~~0°Cc~15ocm~.~
~ '5Rf fl9f ~ ~ ~ <ISm <m<f?

(a)~~~~

(b) ~~~~

(c)' ~~~~,~'~~

(d) ~~~~,~~~

22. ~~~

(a).H2

(b) ~.

(c) ~

(d) • CO2

23. ~ @f?;~ ~ <T~ RI, R2<!l<f, R3~ .
RI > R2> R3; <!l~ ~ ~ ~ <ISm ~ I <!l'OOf~~

Nrn ~~ ~ ~ <T~ 11'12<!l<f, I3~

(a) II = 12= 13

(b) 13> 12> 13

(c) II <12< 13

(d) 11> 12< 13

24. c>jlful$l~~-<£I~ ~,~~'

(a) Na2Zn02

(b) NaZn02
(c) NaZn202

(d) Nun03

25. ~ ~~ ~IC~~*(;~ ~ C>1'1f>1~1>j

~~~'t~?
(a) -40°C.

(b) lOO°C

(c) 160°C

(d) 90°C

[7 ] I,



26. One light year is equal to
(a) 846 x 108 km .

(b) 946 x 109 km

(c) . 10·46 X 1010km

(d) 9·46 x 1012km

27. The weight of a freely falling body under
gravity having mass 500 gm is given by

(a) 490000 dyne

(b) Odyne

(c) 49 N

(d) 98 N

28. The. boiling point of water in Kelvin
scale is

(a) 300 K.
(b) 100 K
(c) 373 K
(d) 473K

29•.. Formulae of Blue Vitriol is

(a) CuS04,5H20

(b) CuS04,7H20

(c) ZnS04,5H20

(d) ZnS04,7H20

30'. Dimension of density is

(a) [ML-2]

(b) [:ML-1]

(c) [ML-4]

(d) [ML-3]

31. Acidity of Ca(OH)2 is
(a) 2
(b) "I
(c) 3
(d) .4

..

26. ~<f$ '¢lfCG11<f1<!(~

(a) 846 x 108 km

(b) 946 x 109 km

(c) 10·46 X 1010km

(d) 9·46.x 1012km

. 27. 500 $r ~ ~<!$<f?§ '¢IN,<fIrA'!l ~~ ~~
~~~'(3~~

(a) 490000$
(b) O~
(c) 49~ .
(d) 98~

28. C<fIG1N,"'1~ ~ ~'G"'1jW'!l ~

(a) 300K

(b) lOOK

(c) 373 K

(d) 473K

29'- ~-~~"'!l"~~~~

(a) CuS0
4
,5H20 .-

(b) CuS04,7H2O

(c) ZnS04, 5H2O.

(d) ZnS04; 7H2O

30. ~~~

(a) [ML:2]

(b) [ML-1].

(c) [ML -4]

(d) [ML-3]

31. Ca(OH)2~"'!l"~~~
(a) 2
(b) 1

(c) .3
(d) 4
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32. The geometric length of a bar magnet" .
= 6 em, then,

(a) its magnetic length> 6 em '

(b) its magnetic length < 6 em

(c) its magnetic length = 6 em.

(d) its magnetic length 2 6 em

33. With the increase in"pressure, the boiling
point ofa pure liquid

(a) decreases

(b) at first decreases, then increases

(c) first increases, then decreases

.(d) Increases

34. If the angle of incidence of a light rayon a
plane be 60°, then the angle of deviation of the ray
due to reflection from th plane is

(a) 30°

. (b) 60°

(c) 90°

(d) 120°

35. At room temperature bromine is

(a) solid'

(b) liquid
~

(c) gas

(d) plasma

36. C14 and N'<are
6 7

(a) . isotope

(b) isobar..
(c) isotone

(d) Isomer

" .

32. ~~ ~~Jj~N5<P~=6~,~~

(a) ~~>6cm

(b) ~~<6cm

(c) ~~=6cm

(d) ~~26cm

33. ot9f~ f<ro~~ ~T;;j~

(a) ~

(b) '~~~M9f@_

(c) ~~_M9(@~

(d) _

34. ~ ~ '5l1(>G11<p~fitr~~~ C<Pt't 60° ~
'.if ~ c~ ~ ~N5~G1(>~~.<:ro1~ ~

(a) 30°

(b) 60°

(c) 90°

(d) 120° .

35. ~~csfu~
(a) •.

(b) .~

(c) ~

(d) .~

36. 6C14~<r~ 7N14-<.£!m~

(a) '5f~(>>jt*19f

(b) '5l~(»jl1m

(c) '5l~(>>j1C.Ul~

(d)'5l~t~t~

[ 9 ]
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37. If the mass of an object be 3 kg, its weight
will be (take acceleration due to gravity = 10 m/s') ..

(a) 30 dyne

(b) 30 kg-wt

(c) 30N

(d) 30 poundal

38. Amount of heat required to raise the
temperature of a piece of iron of mass 60 gm
from 100°C to 290°C will be (take specific heat of
iron = 0·12 CGS unit.)

(a) 720 calorie

(b) 360 calorie

(c) 180 calorie

(d) 90 calorie

37. \£l~~~ 3 kg~, ~'8~~(~
<t\'8, '5lR,~~iSI~~ ~ 10 m1s2)

(a) 30~-

(b) 30 kg-wt

. (c) 30~

(d) 30~

38. 60 ~~\£l~~ ~~ 100°Cc~
~ <p@ 200°C ~ ~C{lliSr~{l ~9f ~ ~?
(~, ~'5!tt~~9f = 0·12 ~\£l~ \£l~)

(a) 720~

(b) 360~

(c) 180~

(d) 90~

..
~# l J l\J
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Life Science
39. With which pollution Eutrophication is

related?
(a) Air Pollution

.(b) Water Pollution
(c) Thermal Pollution
(d) Sound Pollution

40. One symbiotic nitrogen fixing bacteria is
(a) Clostridium
(b) Rhizobium
(c) Azotobacter'
(d) Nostoc

" 41.. Example of bulb is
(a) Garlic
(b) Ginger

. (c) Potato
(d) Turmeric

42. Which of the following plant .possess
negatively geotropic root? .

(a) Pine
(b) Mango
(c) Sundari
(d) Cactus

43. Which is known as 'Master' of masters
gland?

(a) Hypothalamus
(b) Thalamus
(c) Pons
(d) Medulla oblongata

44. For which-physiological function, leaves of. .

cactus are modified into spines?
.(a) Photosynthesis'
(b) Respiration
(c) Increase the rate of transpiration
(d) Reduce the rate of transpiration

39. ~ ~. ~Q( ~\gCG1NoC<l$~~?

(a) ~'f

(b)~'f .
(c) ~9!m1<f'f

(d) ~'f

40. \£1«$ ~~ '~~CGWst"'l ~\<1\'fi"'l<l$rnt<ul<l$('(;H\{l!
~

(a) ~>jmRs{l~

(b) '!11~CiSflM{l~
(c) ~~!<1Jl1J'!1
(d) ~

41. ~~'f~

(a) ~
. (b) ~

(c) ~ .
(d) ~

•
42. ~~'~~\51@,<l$(<1~~9ftem

~?

(a)~
(b) ~
(c)~
(d) <q$J!<l$1;pj

43. ~~,~,.~~~?

(a)~9fI~

(b}~
(c) 9f;q

(d)'~

44. ~ "11~'!1"r~{l ~. ~ <rJ!<P'G1Qi'!1~.~
~~~? . .

(a) ">j"~~\~

(b) ~
(c)'~~~
(d)~~~

[ 11 ]



45. Which one is the odd disease? 45~ ~@I~~?

(a) Pox (a) ~
.(b) Dengue (b) ~
(c) Tuberculosis (c) ~
(d) Hepatitis (d) C~?ffi;~ro>j

46. Starch is stored in 46. ~~.~

(a) Chloroplast (a) ~~
(b) Amyloplast (b) \5U~~G<jI~

(c) Chromoplast (c) ~~
(d) Proteinoplast (d) C~~

47. Extract of which gland is used in induced
breeding of fish?

(a) Pituitary
(b) Thyroid
(c). Pancreas
(d) Testis

(a)~
(b) !(/~~tJllS

(c) ~mrxrn·
. (d) ~~

48. Where artificial conservation of organism
is not done?

(a) .Aquarium
(b) Zoological garden
(c) Tissue culture
(d) Biosphere reserve

48. c<Pt~ 1lRl~~f?:<1~ ~~~~ ~ ~ on?

(a) ~1~@?1~

(b)~~
. (c) ~C~~

(d) "11(JlIN?1I~~

49. In which spices curcumin compoundis
found? .

(a) Cinnamon
(b) Turmeric
(c) Garlic
(d) Ginger

49. ~ ~ <f)1~f.$~~"'1~o;$ 9f\'8$1'\<I'm?,
(a)~·
(b) ~
(c) ~
(d) ~

51. Protein Haemoglobin are found in man
(a) Blood plasma
(b) Red blood corpuscles
(c) Muscle
(d) Bone

50. ~ '8 9f@~ fQ,~<pc<P ~

(a) <M

(b) ~
(c) ~
(d).~~

51. C~~~~9fi'8$1'\<I'm

(a) ~'8'~C>1

(b)~~
(c) C~
(d)'~

50. Fertilized and mature ovule is called
(a).Fruit
(b) Endosperm
(c) Seed
(d) Cotyledon

[12 ]



52. In which fruit. contain maximum
Vitamin-C is present?

(a) Mango
(b) Banana
(c) Litchi
(d) Lemon

53. Botanical garden is an example of
(a) In-situ Conservation
(b) Ex-situ Conservation
(c) National Park
(d) Sanctuary

54. Which one is exotic major carp?
(a) Katla
(b) Bata
(c) Grass carp
(d). Mrigale

55. The term 'gene' is associated with which
cell organelle?

(a) Lysosome
. (b) Ribosome

(c) Golgi body
(d) Nucleus

••

[ 13 ]

(a) ~
.. (b) <fiG1t

(c) ~
(d) CFPi

53. c<lfGIH<PJIGi~ ~ ~~~'f
(a) ~-~ ~\~'f-\Q~
(b). ~~-~ ~\~'f-\Q~
(c) ~~-\Q~

(d) ~9J~~

54. C<PqfG ~~ ~ <m9f'?

(a)~ .
(b) <m;t
(c) ~ <P19f'

.,

(d) ~'ljG1

55. ~' ~ c<Ii'R, c<fiM ~~ ~Qf ~?

(a) Gi~QiltiSf~

(b) ~~c<ntiSf~
(c) .'lJG1f"if<R8
(d) H(g9s~~



u u

History

56. The court poet of Harshavardhana was
(a) Harisena
(b) Sandhyakar Nandi
(c) Umapati Dhar
(d) Banbhatta

56 .. ~~ ~~l<pR ~

(a) ~"f
(b) $j~r~ ~

(c) ~~~
(d) <rt~

57. The greatest ruler of the Chola dynasty was
(a) Vijayalaya
(b) AdityaI
(c) RajeIidra Chola I .
(d) Rajendra Chola II .

57. ~<l\~~~~

(a)MIST~ra'Hl

(b) ~~~
(c) ~~~~.
(d)~~~

58. *~I~\BMr~~Wl~~<rt\~~"f
~

58. Ikhtiyaruddin Md. Bin Bakhtiyar Khalji
invaded Bengal during the reign of

(a) Dharmapala
(b) Devapala
(c) Ballal Sena
(d) Lakshman Sena

(a) ~~ ~lISNI<PltG"f

(b) ~~ ~llST'{I<PrcG"f

(c) ~ ~ ~11ST'{I<P\~

(d) ~"f ~ ~llST'{I<t'ICG"f

59. The first Nawab of Bengal was
(a) Murshidkuli Khan
(b) AlivardiKhan
(c) Siraj-ud-daullah
(d) Suja-ud-daullah

59. <rt\~~~~~

(a)~~
(b) ~11W1<1fq' ~

(c) ~ \£l'(cL:fJG"f\

( d)~-\B~cL:fJG"f\

60. The state of Hyderabad was founded by

(a) Nizam-ul-mulk

(b) Zulfiqar Khan

(c) Mubariz Khan

(d) Sadat Khan

61. The real founder of Delhi Sultanate was

(a) Muhammad Ghori

(b) Iltutmish ;.

(c) Aram Shah

(d) Kutubuddin Aibak

60. ·~~~[;qfl1~~i~

(a) ~-~-~
(b) iSiG1W<P\~ ~.

(c) ~<llRIST ~

(d)~~

61. >LG1\!)\H ~1ti'\CISTJ~ ~ ~ ~

(a) ~OO
(b) ~~~.

(c) ~~~

(d) '9:',¥<1\BMr~~
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62. Who was the Sultan of Delhi when Iban
Batuta came to India? .

(a) Ghiyas-ud-din Balban
(b) Sikandar Lodi
(c) lalal-ud-din Khalji
(d) Muhammad-bin- Tughluq

63. In which language did Babur write his
autobiography?

(a) Arabic
(b) Turkey
(c) Persian .
(d) Urdu

64. During Akbar's time the head of the military
department was called

(a) Diwan
(b) Wazir
(c) Mirbakshi
(d) Mansabdar

65. Aurangzeb died in
(a) 1700AD
(b) 1701 AD
(c) 1707 AD
(d) 1712AD

66. The system of Dual Government of Bengal
was set up by

(a) Holwell
(b) Clive
(c) Dupleix
(d) Warren Hastings

67. The Treaty of Salbai (1782) was signed
between

(a) The English and Tipu Sultan·
(b) The English and The French
(c) The English and.The Marathas

. (d) The English and Nizam

68. .The Permanent Settlement was introduced
in

(a) 1790AD
(b) 17-93AD"
(c) 1796 AD F ~fIC' rot!' ~
(d) 1799 AD

62. ffi.~~j'!1\b<lc<l~\b~~~

~
(a) ~j>jtsMt"'1 ~

(b) ~ CG1Ifi1
(c) iStj'4j'4\sMt"'1 ~

(d)~·~~

63. ~ ~ ~ ~t'!1" '6l1~~<l01) .~?

(a)~
(b) ~
(c) ~
(d)·~

64. ~~~~~~"<IG11~

(a)0f8m;r
(b) '(3~

(c)~
(d) ~"'1>j<ll1t'!1

65. ~~~"W~
(a) ~"\oo~

. (b) ~"\o~~

(c)~"\o"\~ .

(d) ~"\~~~.

66. <ft~G'ffir~ "1j>j"'1<1J<I~~ ~

.. (a) ~~
·(b) ~

(c) ~~
(d) '(3~ ~~J'[ ,

67. ~-\£l~ ~ (~"\ b-~) ~l,*§~~

(a) ~~~ '(3 it~>iG1\blC"'1'!1~~

(b) ~~~ '(3 <P'!1lf>iCl1'!1~~ .

(c) ~\~ '(3 ~j'!11~jCl1'!1~~.

(d) ~~~ '(3f.ii8tlOl~ ~~

68. ~ <lC""fj<l1&~ ~

(a) ~"\<l>O~

(b) ~"\<l>I!)~

(c) ~"\<l>~~

(d) ~"\<l><l>~
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69. Titumir was the leader of
(a) Wahabi Movement
(b) Faraizi Movement
(c) Indigo Movement
(d) Sepoy Mutiny

69. N5~~$1 ~
(a) '8~ \5[~IG1C~$1 ~

(b)~~ ~tc~IG1C"'I$I ~

(c) ~ MCEtjC~$1~

(d)~~ MCEtlC~~ ~

70. The Railway system was first introduced in
India by

(a) Lord Bentinck
(b) Lord Canning .
(c) Lord Curzon
(d) Lord Dalhousie

70. .~ ~$[ (jIG1<1)<l~ ~ ~

(a) ~ ~1SCf.

(b) ~.~

(c)~~

(d) ~ \51G1C~P1·

72. T}1eUpper House of Indian Parliament is

(a) Lok Sabha
(b) Bidhan Sabha
(c) Rajya Sabha
(d) Bidhan Parishad

71. <q"~~~

(a) ~~ \Oft~ ~~o~

(b) "'~ \Oft~ ~"'o~
(c) ~~~ ~C~I<l$l ~"'o~
(d) ~~~ ~C~I<l$l'~",o~

72. \5j<;P~?:l\5[1~"'I>1'6t~ \5b!)1S,* ~.

(a) CG'[11S>1'6t

(b).~~
(c) $I11Sf)>1'61

(d)~~~

. 71. The Partition of Bengal took effect on
(a) 6th August 1905
(b) 9th August 1905
(c) 15th October 1905
(d) 16th October 1905

•.
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Geography .:
73. Repetti Discontinuity is found in between the

layers of .

(a) Sial&Sima
(b) . Crust & Mantle
(c) Crofesima & Nifesima
(d) Inner core & Outer core

. 74. The volcano which emits CO
2
, known as

(a) Mofettes
(b) Saffioni
(c) . Salfatra
(d) Fumarol

73. ~9\fuM~C~~c<l~~~~<ml~~

(a) ~'{3~

(b) ~ '{3 ~~G'f

(c) i!f>(A'P1~t'{3 H(A'P1~t

(d) ~g~G'f '{3 <1f((#<fStft~~G'f

74. c<l'¢Ittmrf~ c~ CO 2 f.t~ .~, ~ ~ <rcG1 ?

(a) ~
(b)~f.t
(c) ~1i;'j*ff;~1
(d) .rr~~IB!ta1

75. ~~~~~'t'{3~~<ml,~~
~-~c<P?

(a) ~fit~
(b) '¢IttmT~

(c) ~~fit~
(d) ~~~;rn

. 76. '6l1@~IfG<1s~~"i<T~~\5(~~~
~.

<mL~

75. I have vertical joints and cracks, so porosity is
more-who am I?

(a) Sedementary rock
(b) .Igneous rock
(c) Metamorphic rock
(d) None ofthe above

76. Cold localwinds experienced along the Eastern
coast of the Adriatic sea are.

(a) Mistral
(b) Khamsin
(c) Chinook
(d) Bora

(a) ~
(b)~
(c) ~
(d) ~

77. m C~( ~ \5(~lFf ~ ~
~\5!f~~~~~~'t

(a)~ - 'ff'6lI~Oj<1I?l

(b) m- 'ff'6l1~Oj<1~

(c) m-~ 9\iib~I«I?L

(d)m-~~

77. In Northern hemisphere, most of the desert of
the world are situated in the western part of the
continent in tropical regions, are slue to

(a) South-East Trade winds
(b) North-EastTradewinds .
(c) North-West Westerlies
(d) North-EastPolarwinds

78. Whichcloud isalso known as 'Bumpy Cloud'?
(a) Altostratus
(b) Chrocumulas
(c) Stratocumulas
(d) Cumulonimbus

78. 'BumpyCloud'~~~~?
(a) '6lcci;$fij~
(b) ~~IMs~~ii1M
(c) WfIDlm~ii1M
(d) m~CG4IH~M
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79. Which of the following is not precipitation?
,(a) Sleet'
(b) Fog
(c) Drizzle
(d) Snowfall

'80. In which ofthe following regions Equatorial
, , climate is not found?

(a) Indonesia ofAsia
,(b) California ofNorth America
(c) Brazil of SouthAmerica
(d) Zaire ofAfrica

. 81. The home made by Eskimo in summer season '
is called

(a) Igloo
(b) Tupic
(c) Kayak
(d) Harpoon

82. According to the Report of WHO (World
Health Organisation) among the G-20countries20cities
have been marked as most polluted cities of which
India has

'(a) 7
(b) 9
(c) 13
(d), 15

83. 'Disease of Dancing Cat' occurs due to
(a) Mercury
(b) Arsenic )
(c) Fluoride
(d) Bromine

84. 'Kakaboraji'is the highest peak of
(a) Mayanmar
(b)' SriLanka
(c) Pakistan'
(d) Bhutan

85. Chicago is known as the 'Slaughter House of
the World'. It is situated on the bank of which lake?

(a) -Superior
(b) Michigan
(c) Huron
(d) Erie •

79.~m~~~'¢f~~9f't-rn?, ,
(a) ~
(b) ~
(~)~~~~~
(d) ~~,

80. ~~'¢f~~~~~<mron?
(a) -£lfXI~~c"'f~~
,(b) ~'¢flOl§<tSrn<pJ1WtC~1f.f.~rn
(c) ~ '6l1()l§<ts1~~
(d) '¢flMrn.~,,·

81. -£lRt;OlWt~®~<tSl~~~~~

(a) ~~"
(b) ~9f<ts

(c) <ts1m<tS
(d) '~9fl

"

82. WHO (World Health Organisation)-~m9fM
'6l'iJ'ltBfG-20 (}f~m~~~~20m~~
.<Pm~I~rn~~~~~~~~~

(a) 1m
(b) 9m
(c) 13m
(d) 15m

83. 'Disease of Dancing Cat' ~~' $lc<r I
(a)~

, (b) '¢flC~ c<tS~
(c) ~~C\5~

(d) ~l~C"'l~

·84. '<tst<tStc<r.' c<r ~~~' ~ (}f~m~
(a) ~rn~
(b) ~
(c)~
(d)~ ,

,85. fXI<tslC'iit~ '1fffi ~ ~ ~ I -£lm t<tsq
~~? .

(a)~~
(b) ~~
(c)~
(d) ~
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86.·· The capital of Rubber Industry is

(a) Accom
(b) Wisconsin
(c) ThTeeRivers
(d) Pensylvenia

87. . The highest lake of the world is
(a) Titikaka
(b) Erie
(c) Ontario
(d) Parana

88. The longest fold mountain of the world is
(a) Andes Range
(b) Alaska Range

. (c) HimalayaRange
(d) None of the above

89. The region in.between Brazilian highland and
the Andes mountain is known as

(a) Pampas
(b) Granchaco

'(c) Selva
(d) Matogrosso

90. World's longest coral reef, the Great Barrier
Reef, is located in Australia. It is found along the

. Australian

(a) South-West Coast
(b) North-West Coast
(c) North-East Coast
(d) South-East Coast

..

86: ~~iiI~~~~~
(a) \§(fj~"1C~

(b) '@~Ji~P1"1C~

(c) fgJ R1l5j>(c~
(d) C9Ji1pjiij(;~f.hllc~

87. '1fm~~~
(a) fGfG~j~j
(b) ~
(c)~
(d) .~

88. 1fm~~~·~
(a)~~
(b).~~
(c)·~.~
(d) \5~~om

89. ~j~CG4~~t>!),¥~'e~~~~\5l~~

<rG4t~
(a) .~
(b)~
(c) ~
(d) _wn

90. ~~~.'C~~M'6lC~Wm:~
~ I~w~ <Trn'6lC~W1~B1

(a) ~'1-~\5~~
(b)~-~\5~~
(c) m-'ff\5~~
(d) ~'1- 'ff\5~ ~
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